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f [a, b].

lim
n→∞[f(x1)Δx + f(x2)Δx + ... + f(xn)Δx]

x1, x2, ..., xn n [a, b]

Δx =
(b − a)

n
, f a b

∫ b

a
f(x)dx .



∫ b

a
f(x)dx = lim

n→∞[f(x1)Δx + f(x2)Δx + ... + f(xn)Δx].

f
f [a, b].

∫ b

a
f(x)dx ,

a < b.
b < a.

∫ a

b
f(x)dx = −

∫ b

af
(x)dx .

a = b

∫ a

a
f(x)dx = 0.

∫ 0

1
x2dx ≈ −0, 328125.

f(x1)Δx + f(x2)Δx + ... + f(xn)Δx

f [a, b], f

f [a, b], f [a, b].

∫ b

a
cdx = c(b − a), c

∫ b

a
[f(x) + g(x)]dx =

∫ b

a
f(x)dx +

∫ b

a
g(x)dx ;



∫ b

a
cf (x)dx = c

∫ b

a
f(x)dx ;

∫ b

a
[f(x) − g(x)]dx =

∫ b

a
f(x)dx −

∫ b

a
g(x)dx ;

∫ c

a
f(x)dx +

∫ c

b
f(x)dx =

∫ b

a
f(x)dx , a ≤ c ≤ b;

f(x) ≥ 0 [a, b]
∫ b

a
f(x)dx ≥ 0



f(x) ≥ g(x) x [a, b],
∫ b

a
f(x)dx ≥

∫ b

a
g(x)dx ;

m ≤ f(x) ≤ M x [a, b],

m.(b − a) ≤
∫ b

a
f(x)dx ≤ M .(b − a).

I =
∫ 1

0
(5 + 2x2)dx .

I =
∫ 1

0
5dx +

∫ 1

0
2x2dx .

∫ 1

0
5dx = 5.(1 − 0) = 5;

I = 5 +
∫ 1

0
2x2dx .

I = 5 + 2.

∫ 1

0
x2dx .

∫ 1

0
x2dx ≈ 0, 328125;

I ≈ 5 + 2.0, 328125 = 5, 65625.

∫ 2

1
(5 + 2x2)dx ≈ 9, 67,

∫ 2

0
(5 + 2x2)dx .

∫ 1

0
(5 + 2x2)dx ≈ 5, 65625.



∫ 2

0
(5 + 2x2)dx =

∫ 1

0
(5 + 2x2)dx +

∫ 2

1
(5 + 2x2)dx ≈ 5, 65625 + 9, 67 = 15, 3229.
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a
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3
,

f(x) = a0 + a1x + a2x
2,

∫ b

a
f(x)dx =

∫ b

a
a0dx +

∫ b

a
a1xdx +

∫ b

a
a2x

2dx = a0(b − a) + a1

∫ b

a
xdx + a2

∫ b

a
x2dx .

∫ b

a
f(x)dx = a0(b − a) + a1

(b2 − a2)
2

+ a2
(b3 − a3)

3
.
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Δx =
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n
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n
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a
f(x)dx .
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a
cdx = c(b − a), c

∫ b

a
[f(x) + g(x)]dx =

∫ b

a
f(x)dx +

∫ b

a
g(x)dx ;

∫ b

a
cf (x)dx = c

∫ b

a
f(x)dx ;

∫ b

a
[f(x) − g(x)]dx =

∫ b

a
f(x)dx −

∫ b

a
g(x)dx ;

∫ c

a
f(x)dx +

∫ c

b
f(x)dx =

∫ b

a
f(x)dx , a ≤ c ≤ b;

f(x) ≥ 0 [a, b]
∫ b

a
f(x)dx ≥ 0

f(x) ≥ g(x) x [a, b],∫ b

a
f(x)dx ≥

∫ b

a
g(x)dx ;

m ≤ f(x) ≤ M x [a, b],

m.(b − a) ≤
∫ b

a
f(x)dx ≤ M .(b − a).

∫ 1

0
(4 + 3x2)dx .



∫ 2

0
(3 + x +

x2

2
)dx .

∫ c

0
xdx =

c2

2
,

c ≥ 0. ∫ b

a
xdx =

b2 − a2

2
a < b


